Refraction Evaluation




Name: ________________________

Rudy has a glass bottom pool with a light on the bottom.  (Don’t ask why.)  A light ray, in air, enters the bottom of the glass pool at an angle of 60˚ from the horizontal, as shown.  Above the glass is the water. 







1. On the diagram above draw a normal line, as a dotted line, at the point where the light ray enters the glass.  (Use a ruler!)

2. On the diagram above sketch the light ray through the glass.  Be sure the direction of your light ray is accurate.  (Oh, and use a ruler!)

3. Using Snell’s Law, find the refracted angle in the glass, i.e., the angle between the normal you drew in #1 and. the ray you drew in #2.

4. On the diagram above draw a normal line, as a dotted line, at the point where the light ray exits the glass and enters the water.  (Do I need to say it?  Use a ruler!)

5. On the diagram above sketch the light ray through the water.  Be sure the direction of your light ray is accurate.  (You know…)

6. Using Snell’s Law, find the refracted angle in the water, i.e., the angle between the normal you drew in #4 and. the ray you drew in #5.

Bonus: If the thickness of the glass is 5cm and the depth of the water is 50cm, how far horizontally does the final refracted ray (exiting the water) deviate from the straight-line path of the incoming ray?
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n1 sinθ1 = n2 sinθ2
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